o] Ao|7t ZOWA A| Z+o] 2717 B o

=
® gyt




= Heh7]of

o S A 27

T4

1

/%}-0

@© Q1 704 o]

o

Hr
N

Tor




3.

A4 7 W, b A2 B o, 44 she the] Had Aol
A @ om 17| T2,

7

240 7ho} Lho] BaA Afo]e] Azl demol 1,
24 Lo} che] HaAl Abo] o] Al

8cm ©|B2 4 +8=12(cm)°|tt.

20 (R

¢




e Tl Jbs 3 BEAA Bol Taurt
7 Uehd Ay 2o 8

=0| E3{urtn g2 &

L) 70

60 N

50

Py

40

30

1
1
L~

20

-

Mzo] 2k gk 7ke]l 371 1 10 +5 = 2(L)
S EF 50 Jd 29 & 66L
Jd oA 7t2F0] 09l 2| : 7R

STEF




7 2 13
_ — =11— -
50+ 3 = 1= -]

2
@51—5

4
@31—5

4 3 4
@ 21—5 @ 31_5 ® 71_5
7 2 9
b i =N
13 9
==l [=84
13 9 4
D_111—5—81—5 I




A 249 okl 0 RE 9 744 o]t %48 Hol= Fuith. A
459 2718 M Tele] A2 FRE 78S AR 2 AL T2A .,

@ 90.296 © 99.300 © 00.158
® 9-0-© @ 600 ® 0-6-®
® 06 ®e-a-0




@ 0.01°] 213¢1 = @0.001 o] 2135¢1
® 0.001°] 20401 @ 0.010] 1992 %

A<
T
® 0.001°] 200421 4

~&B

@ 213

@ 2.135

® 2.04

@ 1.99

® 2.004

449 37 Ay BEol 245 30
A7t oW A5 AR 2], B4 Y, AA 2 9]
+o=2 37|15 By

Z AR Ydstd

2.135, 2.13, 2.04, 2.004, 1.99 ¢} 25U th
metA] 7 2 S @ 2.135 Yyt




£ F542.

Ut} 2t e 7]

KR

a7t

40°

50°

ul
KO

T

N

T

X

S L oA

=
[a}

(180° —40°) +2 = 70°

"II:L)

60°ol2=Z

g 2o (4 =cn)
(ZF 1EE)=180°-70°-60° = 50° YT},




o ¥ B 3717F 22 HPAPHY 2 7]} nE s HA) A
A < Aoltt, FPAFAF O] E7F 28 em € W, vFE O] =<
Zol= 9 cm?l7H?

WA G| o7 B o] ol Az 2o,
(A =a9 do])={28-(5+5)} +2=9(cm)
(FERo] E99 Zol)=9x4 = 36(cm)




~

o
s

o
O
~

A 9.

?‘

S
=

T

23} 7t o 2no] 37]9]

135°

ul

>

g
=3
oraoA (Z coa)

1@.0
N
~H

=

T

A
=
(Zt o=n)

pL1
=
o

o O
Wko

[e]
- (& ora)

360°+8=45°

(Z}- ot &)+ (Z}- ozr)

metA (ZF oea)+ (ZF ozn)

180°—-45°=135°




